
Subject: Re: Bypassing protective lamp in crossover?
Posted by Wayne Parham on Tue, 22 Mar 2005 16:48:59 GMT
View Forum Message <> Reply to Message

Try it, you'll be very surprised.  Since it is about 1.8 ohms cold, I expected a noticeable difference
would result from shorting it.  If there were no other crossover components, it would raise the Q of
the system.  But the resistance is ahead of the reactive components in the crossover and is
decoupled by them.  It doesn't interact with the system as much as if it were after the crossover, in
the position of R1.  Changes in R1 resistance will make a measurable and noticeable difference. 
But ahead of the crossover, it doesn't.
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